Weekly Arithmetic 10 a day w/b 11/5/20
Monday Tuesday
1. Double8=___ 1. Double8=___
2.16+__ =25 2.16+_____ =30
3. 12+8+12=__ 3. 12+ 15+3=___
4, 50=35 +_____ 4, 60+40 =_____
5 12x5= 5.35=5x__
6. 60 +5= 6. 30 + 2=
/. =61+19 /. 20+ 35 =
8. 43-22= 8.70-25=
9. +12=159 9. +45=87
10. Jessica has 6 toy cars. 10. 50 biscuits need to be shared

Each toy car has 5 seafs in it.
How many seats are there all
togethere

equally between 10 children.
How many biscuits does each
child gete




10.

16+

Wednesday

. Double 50 =

20

11+20+2=

64 -20 =

.6x10=

40+5

46+ 34 =

.87 -14=

-20=35

Lauren has 15 sweets and
Oscar has 12 sweets. How
many more sweets does
Lauren have?

Thursday
1. Half of 80 =

2. +15=20

3. 9+31+18=

4. =32+728

5 12x10=

6. 70+ 10 =

7.39+37=

8. 42-31=

9. -19=54

10. Bo has 16 cakes and
Dave has 14. How many
cakes does Bo need to give
Dave so that they have the
same amounte




Friday
. Double 25 =

. of 26 =
. aof 16 =

. have 5 5p coins and 2 £1.00
coins. How much money do |
have?

. The length of a table is 100
cm. The length of the room is
5 meftres longer than the
table. How many cm in length
is the room?

. There are 40 biscuits in the
biscuit fin. One child ate 6
biscuits, another child ate 2
biscuits. How many biscuits
were left in the fine

. Itis 11 o' clock. What time will
it be 20 minutes latere

. Chloe has 5 bags of rice. Ben
has 5 times that amount. How
many bags of rice does Ben
have?




